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Answer booklet
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Explain the contributions of Henri Fayol in the practice of mgnagemeént and how .

this apply to the modern organization. _To dulde W (12 marks)
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Explain why policies are needed in an organization. _ o , Qe (4 marks)
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Explain how proper planning lead to effectwe management of an enterprls ;
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(1 Cross-reference .
(i)  Marking absent file
(i11)  Released for filing
(iv)  Retention of records (8 marks)
Outline the telephone sw1tchboard procedures which need to be followed when
handling "incoming calls" and "calls from extensions". (4 marks) .
Briefly outlifie the various classifications in filing. (8 marks)
State the benefits of an organization chart. (4 marks)
Describe the characteristics of line and staff structure hlghhghtmg FOUR
advantages of this structure. (6 marks)
Outlme the limitations of usin I{}mlttees n an or anization. 5 marks
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Explain the benefits that a Manager may “derive from delegatmg duties.

(5 marks)

State THREE ways in which Natural resources may benefit a country.

(3 marks)
List the components of a business budget. (2 marks)
Distinguish between:-
(1) Treasury Bills and
(1)  Treasury Bonds (4 marks)
State the measures used by the Government in correcting the balance of payment
deficit in Kenya. (5 marks)
ldentify THREE instruments that are traded in the money market in Kenya,
highlighting the significance of each. *“\"f SE ey ’\‘f&“ Uj (6 marks)
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(1) Describe FIVE difficulties that a personnel manager r‘r{ay encounter when

selecting staff for promotion. _Q__’“D“' ‘\*‘-’“( e V Ge dad W O(S\hiﬁrks)
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(1) List FIVE monetary methods of motwatmg emp]oyees 2 '/5 marks)
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(B =11 - Outlme FIVE reasons why it may be nec,eﬁﬂary for a manager 10 carry out

ol aralysis, = Lo e e Mt? N S A S marks
'] y - T ,-( nt \1 Peii e BT LB vck_ Oy 5,-\\1\_ & ( )

- — o sénreiide Cm“‘ ;
(11) Highllght the importance of an induction courseT?or newly engaged members
of staff in an organization. -~ it afa"Tl (2'/, marks)

() () Define the term "Management by Objectives". Where  [WOmGIERE (2 marks)
U""Q ‘5\“{“; L lﬂa #] 1746'"’(} N g JpA. & I\JU‘J L !"‘ ‘\}\/‘\‘\'3'; .{'__Vr f Fol e Ban
(i)  State the key featlres of the "Management by Objectives programme”
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6. (a) Define the following terms and'state the 1mportance of ucf’n oy &
(1) Maximum stock level
(i) ~ Minimum stock level
(iii)  Re-order level (6 marks)
(b) The following data relate to a given stock 1tem.
51‘1
Normal usage 500 per day
Minimum usage 250 per day
Maximum usage : 700 per day
Lead time 15-20 days
Economic order quantity (EOQ) 10,000
Calculate:
(1) The re-order level
(i)  The minimum level
(iii)  The maximum level (9 marks)
(c) A company uses 50,000 units of a stock itern per year which cost Ksh 1,000 each.
The ordering and handling costs are Ksh 15,000 per order and carrying costs are
15% per annum.
Calculate the Economic Order Quantity (EOQ). _ (5 marks)
7. (a) Briefly explain the following administrative documents used in an average
workshop.
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(i)  Equipment history records — tp;,.r,,, avis bl € t o
(iv)  Stores requisitions -
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=~ (b)  .The following data is givén when-a digger-loader is to have its engine replaced.

Cost Rate
(Ksh.)
Direct Labour: skilled mechanic 250/hr
Unskilled mechanic 175/hr

Indirect Labour 75/hr
Workshop overheads 600/hr

Indirect material 30% 'Direct material costs

Determine the cost of replacing an engine of a Digger-Joader given the following

information.

: Skilled labour required - 4hrs o+ 28° =

- Unskilled labour - bl 1YY =

Total time to complete the work - Shrs x 60U =

Machine downtime - 800/hr

Maternal costs - ' - 15,000,000 (4 marks)

b
(c) (1) Discuss the causes of poor communication which are related to _

circumstances internal to the organization - - (4 marks)

(11) State FOUR factors that are considered by an organization when choosing a

communication system. (4 marks)
Aot
€
(111)  Explain any FOUR barriers to communication. 5 '\1\2‘,;'? e (4 marks)
— tar iy
8. (a) Explain any FOUR steps of carrying out work study. »m2¢..i+t4 (4 marks)
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(b) List any, F FOUR advagtages of work planning and work scheduling. (4 marks)
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(c) Draw the critical path of the following network:-

ACTIVITY PRECEDING ACTIVITY  DURATION

(WEEKS)
¢ A — 4
L B A 7
J C A 5

=-~‘_,,' B A L

/ E B 5o
F 8 3
A - B 5
e 0. 2 H B,F 1
AL L I G,H 7
\_";‘\—, ) K i 4
Py ligtely M L D 3
A 4 N M LK, L 4

ok ,4“\0‘ e 0 (8 marks)

(11) Calculate the total floats on the non-critical chains in the network above,

(4 marks)
2101-8/302 ‘ 4



